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Geometry, 4.1 and 4.6 Notes — Midpeint and Slope
Midpoint formula:
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Examples:
Find the midpoint of line
segment AB ' '
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B= (6, 3)
A= (2,1)
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Find the midpoint of line segment AB
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Parallel lines have the same slope:

Perpendicular lines have the negative, reciprocal
slope:
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Geometry, 4.2 Notes —Proofs with ne Diagrams

Sometimes, you need to prove something given only as a statement You need to create a
diagram and state the givens and what is to be proved.

Genera! procedure:

1 Rewrite the statement in the form 'if (givens), then (what you want to prove)
Some hints:
* Sketch the problem out first to visualize what is being said.
» Find the ‘verb’ or ‘action word’ (is, bisects, divides, etc.)
» Look at the words after the action word.. This is part of what you want to prove.
» Find what is doing the action.. this is also part of what you want to prove. -
» Look at the rest of the statement...everything else, is part of the givens._
2. Make up a diagram that will allow you to prove this
3. Make up ‘Given:’ and ‘Prove:’ words that match your dragram and if/then statement
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Example _If two altitudes of a triangle are congruent, then the triangle is isosceles.
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Practlce “I\:he btsector of the vertex anglef of an isosceles tr;ang[e@;
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Praf‘tlce The line segments joining the vertex angle of an isosceles trian
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Geometry, 4.3 Notes —Right angle Theorem

Theorem: If two angles are both supplementary and congruent, then they are right angles.

Given: Al= /2
Prove: Z1and /2 are right angles.
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" Prove: ADIis an altitude.
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Geometry, 4.4 Notes ~Equ:d1stance Theorems
Defmltlon dlstance = Iem-f’?l f;tﬁ *F’ te § }?c:mge isd ﬂ@“’f’?ﬁ ﬁaﬁu@e@ﬂ @;é‘,j
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If 2 bb'i'hts.'l'jtand 'Q'.'ére the same distance from a 3™ point X,

then X is @gm'aﬁé&%&fﬁ from P and Q. P

Except for the midpoint, points on a segment bisector are not the
same distance from the segment endpoints;

Definition: a perpendicular bisector of a line segment:
- Bisects the line
- Is perpendicular to the line .
- All points on the perpendicular bisector are equidistant
from the segment endpoints.
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Theorem: If 2 p'oints are equidistant from the endpoints of a segment, then the 2 points
are on the perpendicular blsector (It doesn’t matter which side of the line segment the points

are on.)
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Theorem: If a point is on the perpendicular bisector of a line
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Examole F’rcnmc o

Given: OO _
M is the mtdpomt of AB-.'-_'

Prove: OM iAB_'
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3 i}'eo'metry, 4.5 Notes —Parallel Lines

( | E._d't"s'”tif new definitions. ... "

Plane = a flat 2 dimensional surface
Coplanar = in the same plane
Noncoplanar = not in the same plane
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Transversal = a line that intersects 2 other coplanar lines.
Which one is the transversal?
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Angle pairs formed by transversal...

Alternate Interior Angles
Pair of angles on opposite sides of transversal,
in interior region.

/% /b are alternate interior angles.

L‘I 45 are alternate interior angles.

Alternate Exterior Angles
Pair of angles on opposite sides of transversal
in exterior region.

L‘ ;d/f are alternate exterior angles.

— Llitf 7 are alternate exterior angles.

~ Corresponding Angles
- Pair of angles on same side of transversal,
“ - one interior, one exterior, with different vertices.

M A are'éori‘ésponding angles.

L7224 - are corresponding angles.

éﬁiﬁ%’ are corresponding angles.

4 V £ are corresponding angles.

Are these angles alternate interior angles, alternate exterior angles or corresponding angles?
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